EARAROBREBRT —5 XN—ZXBISH—F 20224F10828H (&) 7EAntE5H

il 1 —HUTE1— YSR2EHS ‘(fﬁ} ® ‘I%EH?’JFE‘?] - | 5 1000 B
[xE<] 1%&:2,700,000 3 . 237%&:1,080,000 3 . 337&:675,000H . 43 :405,000 F 5 3&:270,000 M
FRESS /IR HE B5F (F28) FA4L (5% | BBIEML | E3F |[SIEY | AT | #AE | B FIR) / BF / S£ERS
=, = W25 : - - KHEE (oE)
F—FU=H it 2 NG 1.(0_4).2 1-1 40.0 3 :130) ¢§EE?%
RiAVAYF—Yay H:OvvO—R HWE 8
— = SEFERR : - - BENEE (#618)
ho—F=5)L #2028 (e A PE e
RIIZART—ILYF— B:ASRUIL il SER
— = o~ RER : - - MRS (fofs
—y40510> 2 aeT 5 M 1 (417) B
R:VAVR=S4Y B:FI—THTS54A4T KRB
=y £ 2 | EHfES 1:05.4 2-3 40.8| - 4 399 | FEERESL (AGHE)
AT FTT7E-I ! 54.0 o15) ) (8 NO. 9%—Z hL—=27x
R:OVIZI7—R B:IAYVLIVUVT RIERIS
= AHIEE : - - FHEE (1018
T+ ILURF 4 — it 2 i 1.(087).0 5-5 41.3 5 :133) ity
RiF4—IIIATF4 B:LFro0-UR L =
=— s 2 | EIHGEAER 1:07.1 6-6 0.0 - 6 | 380 |fE4ATH (#648)
STFIAR 54.0 (3/4) (=) |FHLERK
RiV—IJZRNIIV YT VH— e i
@ 1—F—&BIE(I
13—7F—
20—F—
BEIES /S 6,5.4,1,3,2
40—7F— 6.4,5,1,3,2
0 ILRE
BB 6 1,130 JA R 1-6 3004 F5 EE 1-6 1,750 3ER 1-4-6 3504
BB 6 2004 4-6 140M o= 6-1 3,610MH 3Es 6-1-4 7,140H
1 170/ 1-4 1304

ABIC OV TRUTEREERRODDZE. THRIIZEL.



